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A motor is coupled to a load having (h
following characteristics:.

Motor: T.. =15 -0.5 ,, ' 1 .

m

Load: I, 05w ,

i . { |
The stable operating point for this combination
18 ' '

@ @, =5 T -12.5

bl @, =T, T=10.5

©  w,=4,T=14.5
) | @, =9 T=17.5

Which braking is not possible in a dc series
motor?

(a) Regenerative bra king

(b) Dynamic braking
(© Counter current braking
(@ Rheostatic braking

Dynamic braking is employed tolb‘rake

(@) Non reversing drive

(b) Reversing drive

(©  both (a) and (b)
(d) None of the above

A motor has a thermal heatmg time constant of

50 minutes. When the motor runs contmuously

~on full load, its final temperature rise is 80° C,
‘what would be the temperature rise after

1 hour, if the motor runs contlnuously on full
load? ‘ "

(a) 55.9°C (b) 5’8°c
(© 56°C iy 80P
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1 a+(7/2)

a+(z/2)

N‘IH

a- 7r/2)

rque

is the

" 225 N-m

- 468 N-m

a pafticular mo_tor,>
istant usually

.' 1 rr,' R . o i
-——IVm cos 6.d60
” \ 8
- JVm cos6.dg

T wf2)

Vim sin6.d6

Duratlon

: 20 mmutes

10 minutes

10 minutes

the heating time

Increases with increase in size
Decreases with increase in size

Increases with decrease in size

20 miﬁiiteS’-

equivalent load ,t‘orqu.e
B 37Nm
(@ 556N-m

‘f slngle phase semi converter the average
voltage is g1ven by

“ torque during the duty cycle of a motor are
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